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Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]
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Plot [’ ECopt’]
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Plot Sensor and FgRec Data
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Plot [['I", "lopt’], ['T, "Topt’], ['RH, 'RHopt'], [ ETcl’, 'optETcl’], 'LAI', ’optEtRate’]
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Plot [['ECC:b—0’,
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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Plot [['PHC:b—0’, 'FVIPH:r—o', 'PHl:g—0o']]
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Plot [['FVOPH:r-o’, 'PHO:g—o’]]
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Trend plot forP3-13 0
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P3-13

BYiE) | GEBRTIK () | ERE (EA/) | EREE (/R | XS ERE

08:05 312 150.0 2. 888 BE| FHA@08:05 KREFEF (REMEESE)
08:55 312 150.0 2.888 A5 FMHA@08:55 KENFEF (KAIERER)
10:05 312 150.0 2. 888 RS ThHA@10:05 KENFEF (CRAHEEER)
11:00 312 150.0 2. 888 B FHFe11:00 REEF (REAEHSE)
11:50 312 150.0 2.888 RS FhHA@11:50 KENFEF (CRAfEEER)
12:40 312 150.0 2. 888 Be| TiHHe12:40 RHEF (KAEZRE)
13:25 312 150.0 2. 888 RS FiHRe13:25 KREBFE (GREAERSE)
14:15 312 150.0 2.888 5| FhHA@14:15 KRENFEF (RAIEEEE)
15:10 312 150.0 2.888 BE| FiHFe15:10 REEF (REAEHE)
16:15 312 150.0 2. 888 RS FiHRe16:15 KREEF (REAEES)
21t 3120.0 (10)%) 1500. 0 33 KEC: 2080.0, PH: 5.7

[Bl;&EC 7567.0 K&, EiF{RECAE& MR
HEEIKECE (1907.0 vs 7567.0) 15
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P3-13

Ffig) | JEBIATHC (FD) | ERE (BH/) | BEREE(B/R) | XS EFE
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=it 1440.0 (5)%) 750.0 3ESHKEC: 2080.0, PH: 5.8
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P3-13

RyiE) | EBIATK (FD) | ERE (EA/4) | EBREE (B/R) [XKS EFRF

06:50 283 150.0 2.888 FH| {Ri%@06:50 Bz (FRAHEESE)
07:50 283 150.0 2.888 FH| 1Bi&@07:50 Bah (RAEREE)
08:50 283 150.0 2. 888 FA| {RRi&@08:50 BHzh (kA{EEEE)
09:50 283 150.0 2.888 FA| {RRi&@09:50 Bz (kA{ERE)
10:50 283 150.0 2. 888 FB| {Ri&@10:50 B3 (FAFERSE)
11:50 283 150.0 2.888 FA| {Ri&e11:50 Bzl CGRAEEE)
13:40 283 150.0 2.888 | KM| {Ri%e13:40 Bz (KREAEZHE)
29t]1981.0 (70%) 1050. 0 32 HKEC: 2080.0, PH: 6.0

TERRHLER 2 STEEART (187.0 :

BRIASCRRERE138. 0 ml. B
[E/&REC 9155.0 K&, EINLFAKECAE & MtE R
HEEIHECE (2087.0 vs 9155.0) 45

138.0), FAlEEHT—@ L XA S




FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-13_0, Day=61 (2025-05-31)

L e e e e e e A
VI, V&RV, ET - VI, VO, FVI, FVO, FRV, ad jFRV, ET
702 - 2000
100 1600 1490
1100 1002
50 4 - 1000
00 60

Warning: lcol [FVI',| "FVO’'] missing

Warning: lcol ["WC1',  "WC2'] missing

optEC0=2600. 0, setECB=2080.0

Warning: lcol ['ECB’,| 'ECC’'] missing

optPHO0=6. 5, setPHB=6.0

Warning: lcol ['PHB’,| 'PHC’'] missing
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cumET (ml/plant) cumET (ml/plant)

cumET (ml/plant)
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35.

35.

34.
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T
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P3-13

RfiE) [ EBIATK (FD) | ERE (EH/) | BEBREE (B/R) |[XKS EFF

06:40 283 150.0 2.888 FA| {Ri%@06:40 Bz (RAHEEEE)
07:25 283 150.0 2. 888 FA| 1Ri%@07:25 B (KAHERRSE
08:10 283 150.0 2.888 FA| 1BRi%@08:10 Bah (FkAfEREE)
09:00 283 150.0 2.888 FA| {RRi%@09:00 Bz (RPBHEEEE)
10:05 283 150.0 2.888 FA| 1Bi&@10:05 Bah (RAEREE)
10:50 283 150.0 2.888 FA| {Ri&@10:50 Bzl (GkAEEE)
11:30 283 150.0 2. 888 FA| {Ri&e@11:30 Bz (GRAEREE)
12:10 283 150.0 2.888 PR 1Bige12:10 Bzh (RAEREE)
12:50 283 150.0 2. 888 FA| 1BRi&@12:50 Bz (KAL)
13:30 283 150.0 2.888 FE| 1BRi%@13:30 Bz (kAERSE)
14:25 283 150.0 2. 888 FE| 1Ri%e14:25 Bz (kBERSE)
15:30 283 150.0 2.888 FA| {Ri&@15:30 Bzl (GkAEREE)
16:45 283 150.0 2.888 FE| 1BRi%@16:45 Bz (kAFERSE)
249t 3679.0 (13%) 1950. 0 ZHKEC: 2080.0, PH: 5.9

MERRNER S 5STREAERSE (184.0 : 136.0), AEEHF—RZ X445
LEOREBIRTC (283) 571H (312. 0) A, FEEH T X BRERS EXIER
ZRIASERRIERE136.0 ml.

[Bl&EC 8824.0 K&, #EiXF{KECAE&HikER

HEEIKECE (2220.0 vs 8824.0) U5



FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-13_0, Day=60 (2025-05-30)
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100 A
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110 Warning: lcol [FVI',| "FVO’'] missing 00
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Warning: lcol ["WC1',  "WC2'] missing

optEC0=2600. 0, setECB=2080.0

Warning: lcol ['ECB’,| 'ECC’'] missing

optPH0=6. 5, setPHB=5.9

Warning: lcol ['PHB’,| 'PHC’'] missing
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P3-13

BflE) | GEBRTK () | ERE (EA/) | EREE(B/R) | XS R

07:10 283 150.0 2.888 B {Ri%@07:10 Bzl (REEESE)
07:45 283 150.0 2. 888 RS {Ri&e07:45 Bz (REERE)
08:30 283 150.0 2. 888 S| 1Ri%e08:30 Bah (REEESR)
09:10 283 150.0 2.888 [Z=| 1Ri&e09:10 Bah (FREEESE)
09:45 283 150.0 2.888 |Z=| {Ri%e09:45 Bz (KREAEHE)
10:20 283 150.0 2.888 |Z=| {Ri%e10:20 Bz (KREAERSE)
10:55 283 150.0 2.888 [Z=| 1Ri%e10:55 Bzh (REEESE)
11:30 283 150.0 2.888 |Z=| {Ri%e11:30 Bz (REAEZHE)
12:15 283 150.0 2.888 |z =| {Ri&e12:15 Bz (REAEBSE)
13:00 283 150.0 2.888 el Rige13:00 Bal (REAEHE)
13:35 283 150.0 2.888 RS {Rige13:35 BHa (REAEHE)
14:10 283 150.0 2. 888 B Rige14:10 Bz (REAERSE)
14:50 283 150.0 2.888 BE| Rige14:50 Ba) (REAEESE)
15:30 283 150.0 2.888 BE| Rige15:30 Ba (REAERE)
16:25 283 150.0 2.888 |Z=| {Rige16:25 Bz (REAEHE)
Bit| 4245.0 (15%%) 2250.0 3 WUFHKEC: 2080.0, PH: 5.8

MERRNERE STREAERE (184.0 : 136.0), AEEHF—RZ XA45
LOREBRRTC (283) 571H (312. 0) A, FEEH T X @RERS EXIER
ZRIASERRIERE136.0 ml.

RE XK i3k B RECEUR Fhak.

[Bl&EC 7968.0 K5, iYL F{KECAE&HikE R

HEERECE (2337.0 vs 7968.0) 15

RERFEBL I HEREC/PHETR K, FIREIEAENRR



FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

1 e g g e S B S g

P3-13_0, Day=59 (2025-05-29)

VI, VO, FRV, ET - VI, VO, FVI, FVO, FRV, ad JFRV, ET 2944 L 3000
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50 - 1000
0 Warning: lcol [FVI',| "FVO’'] missing 110
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Warning: lcol ["WC1',  "WC2'] missing
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0.2 A
Warning: lcol ['ECB’,| 'ECC’'] missing
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0.2 A
Warning: lcol ['PHB’,| 'PHC’'] missing
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m=935,n FV0=0
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00 -
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m=975,n FV0=0
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40. 25

40. 00

39.75

39.50
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39.00
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